Sub-matrix Average

Espafiol

Dickie is learning the utilities of a matrix in the school, then the professor asked him to find the maximum submatrix
in a matrix given, so that the average is maximum, we define the average in a submatrix as the sum between all the
elements on the submatrix divided by the number of cells evaluating, so for example.
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The example matrix has 4 submatrix, these are { {0,0,1,1}. {0,1,1,2}, {1,0,2,1}, {1,1,2,2} } (The values given are the
pair (row,column) for the leftmost top corner and the rightmost bottom corner), of course, the maximum average
obtainable in this example is the last one, giving ( (9+8+9+8) /4 - 34/4 - ) 8.50

For simplicity, we ask you to print the result with two decimal places, i.e. instead of printing 8.5 you should print 8.50,
if there is any result with more than two, round it up, i.e. if the result is 8.66666... you should print 8.67.

Input details:

You must read two integers N and M, representing, respectively, the matrix N and the submatrix M to take, after that,
N lines with N integers separated by a space will come, each representing the position in the matrix.

Output details:

You should print the maximum average obtainable having in count that you should always form a submatrix of MxM
in the bigger matrix N.

INPUT OUTPUT
32 8.50
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789

Constraints:
1<=N<=20

1<=M<=N


https://docs.google.com/file/d/0Bwn4h1SveWo1U0xld1FRZlhINmc/edit?usp=sharing
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